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(1) HBHRATHRSESRZARR? (20%)

a~ 3% %A (nominal variable)
b ~ F4i % 1y (ordinal variable)
¢~ ¥ WA (interval variable)
d~ %5 (ratio variable)
(2) BT a- F—MWRE (typelerror) (a-error ) 2 (10%)
b~ XM E (typeHderror) ( f-ermor) 7 (10%)

(3) X=57Y=3
| >(x,-x) >(5-F) X (%, -X)(x-7)
Sy == =10, §; = =4 ,8,, =+~
| n—1 n—1 n—1
pamwraxy =a+bX, . px X =4w2P o (20%)

2 2

(4) B4 fl-fr*ﬁ’(ﬁﬁ-#vi +': J .o'=8.m=n=9.%=843,7%, ~82.1
| wr oy iy <p, vs Hip>u ata=0.05 (90%) l
|(5) € %0 fl_fz”N(J“l_#z!a += J ’

nhoom I

m=n=9,%=843,%=821,5=9,8=7
I
waeHy sy vs H:ip>pu ata=0.05 (9%
|
[ P(Z>z)=a,2,,=1.645 » P(T>t,(df))=a , t,;(16)=1.746 , 1,,,(18) =1.734
I
- | - - N

SRR A =




